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9. 00obOOoOoOoOoooobooo

3.1 OO0O0boobooo

gboboobooboboobooboboobOoooobobobobooboobooboOoboooooon
gboboooobooboooon
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e JOOODOODOOOOODODOODOODOOOODOO
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gbobOooooooboooooobobobOoboooobooooooboobobOooboooboon
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gboboooogooo
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3.2 JUoon

go0o0o0o0O0ooo0o0o1000nD f:R-ROO0O0O0O00D0eeROODOO

. fla+h) = f(a)

lim —MM >~~~ 1

hlg}) h (3.1)
0000000000 fO0eeROODOOOOOOOOOOOODO (3.1) 00000 fOa€eR
gooooooooooo

%(a) o000 f'(a)

gbooooooo

00 12. 00000000000000000000D00000000000000000 £/(a)
000000000000 00000 AODD0D0O0D0O0O0DO00000O000000000000
000000000000 0000000000000000000000000000000
000000000(¢$1)000000000000000000000000000 {h,}%2, O
hp =32 00000 {h,}32, 0 h,=—% 0000 {h}32, 0 h,, = (3)" 00000000
00000000000000000 f()000000000000000000O0 ADODOO
0000000000000 000000000@
0000f(z)=|¢|0000000€eROOD0ODOO0O0OODOO00OO0OOOOO0OOOADDOO
000000000000000 10 A000000000000000000 -1000000
0oooo

gbog 2. Jbgbgobooboobooboboboboooboobobooboboobononog
gooboboobobooooboooobooobbooobboobboooobboobobo
gbooooboboooooboooobobooboobooboonogon

gooooboboooboooooboobooobbobo0 zeROODODODOOODOOODOOO
OzxeRODODODODOOOODO f(x) 000000

z— f'(x)
O fO000000O0O0fU0O00OO00O0OOO0OOOOOOOO f(z)0D000ODOO

02 fl@)=2",(neN)J«cROODODODOOOODODOOOOOO0O0O

. (a+h)"—a” . (a+h-a)((a+Rm)" "+ (a+h)"2a+ -+ (a+h)a""? +a""")
lim —F——— = lim
h—0 h h—s0 h
_ h((a+h)" "+ (a+h)"2a+ -+ (a+h)a""? +a"")
%0 h

lim ((a+h)" '+ (a@a+h)" 2a+--+(a+h)a"?+a" ")
h—0
= na"!

0000000000 f(z)=nze™ 0000000

ud 11. 0googooobobooboobooboobooboo

1. sinx
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2. e*

3. logzx
000o0Do000oooooooooo0oDooooooooooDoooooooon
00 1.00 f:R-ROe¢eROODOOOODOODOOOOO fO0 «O0D0O0ODOODO

(oo)od {z,}»O0 ¢z, -ea00000O000A,=2,—a0000000AK,—-000000
goboood

f(xn)_f(a):f(a+hn)_f(a)_)hn'fl(a) (n—)oo)
oo

f(@n) = fla) >0 (n — o0)
ggo

f(@n) = fla) (n— o0)

O00o0ooooo@ooon)
gboooobobooooboobooooooobooood
gogbooboobboobboobooboobooboobooo

00 2. 00 f:R-ROeeROOOOOOOOOOOOOOOO0O0OOOO0OO

. fla+h)—fla) —bh _
(3b e R) “51‘1;10 n =

0 (3.2)

ub 12. 00 200000000000

0020 (32)0000000000000000O0ODO0OO0UOOO0O0O0OO0OO0OOOOOO0
000000000 (3.2)0000000000000000000000O0
gboooobooboobooboooobobooboooon

00 3(00000o0oon). 00 f:R->RUeceROODODg:R—-ROeceROOODO
O0AeROOOO

1. h:xzr— f(z)+¢(x) 00000 W (z) = f'(z) + ¢'(z)
2. h:z— Af(x)D0000 B (x) =Af'(2)

3. h:z— f(x)g(z) 00000 W(z) = f'(z)g(z) + f(z)g (z)

4 hiz— {E 000000 (Ve eR)g(z) 0000000
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(00)3000000000000000000000000
flx+h)g(x +h) - f(z)g(x)

Wz) = lim, h
. Jf@+h)g(z+h) - flx)glz+h)  fl@)g(z+h) = flz)g(r)
= W%{ I + I }
flz+h) - f(z) g(z +h)—g(x)

im

= 1 1
0 h—0 hO0

lim lim g(z +h) + f(2)
= fl(@)g(@) + f(2)g'(x)

(00ooo)
000000000000000000000 (chainrule) 1000000000000000

00 4(000000000). 00 f:R-ROecRaecROODODOOO0OO0g:R—-R
DaecRO fla)e ROOOOODODODO

h:z— g(f(x))
0000000000000 A(z)0 eeRODOO0O0 K(a) =g (f(a))fla)0000
(00)00000000000000000000000000000
b=f(a)0A=f(a)0p=¢(f(e)) D0DD00000000OO0O0O0O

o(z) = f(z) — f(a) = Az — a) (3.3)

Y(y) = g(y) — g(b) — pu(y —b) (3.4)

p(z) = g(f(x)) — g(f(a)) — pA(z — a) (3.5)
oooooooooon

lim 2@ _ (3.6)
z—a |;g — a,|

Wl
;1_>mb Wb 0 (3.7)

gbooooog
gbooogoo

i P@ _

z—a |z — al -

goo

gobooboboboobbobbobooboobo
tim LN _ (3.8)

z—a |;g — a,|
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o @) 59)

z—a |gg — a,|

000 (3.9)0 (3.6)000000000000000000 (3.7)000
(Ve > 0)(36 > 0) |f(z) — b <6 = [¢(f(x))] <elf(x) —b]
0000006, >00000000000 |z—a|<6 0000000000000

[W(f@)] < elf(z) -0l
= elp(z) = Az —a)|
()

elp(@)| + ||z — al

x

IN

0000000000o00o00 (3.8) 00000 oooooo0oonoo

3.3 Uuooon

gbooogbooooboooooboooboobobobobobobobobobobobon
gogbooobooboobgoooobooboobooboobooboo

gbobooobooboobooooooboboooobooooa

00 f(z)Uz=c000000000000O0O

(36 > 0)(Va € (c — 8,c+ ) f(z) > f(c)
goooooooodbtbz=cO0b0onoooooonon

(36 > 0)(Va € (c — 8,c+ ) f(z) < f(c)
gootoooooooooootoooooooooooooboooooooooo

00 5.a<b00000 (a,b) 0000 f(x) 0000000000000 Oa<e<bO00 ¢
0000 fO0000000 f(ey=00000

(I:II:I)m:cl]l]l]l]l]l]l][[l]l]l]DEII:II:II:II:II:II:I[I]]I:II:II:IEI
(36 > 0)(VR) |B] < 6 = f(c) < flc+h)

h>0000
fleth) = 1) _
- <
Od0OhA>0000 h—00O0000
flley<0
00,h<0000

fle+h)— f(c)
h
O00h<0000R—00000

f'(e) =0

000 20000000000000000O0O0O0O0O0O0O0OOf'(¢)=00000000TOOO
ooo

>0
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00 6 (Rolle000). 00 f: R - ROODOOO00000e< 600000 ab0000
fla)=f(h)000000a<ec<bO00000 00000 f'(c)=0

(00)000 [e,b) 000 f00000D0000O0DO0O0O0DOOOO0DOOODOO0 f(My)ODODO
O fime)OODOO
[f(Mo) = f(mo) = f(a) = f(b) 00O 000D

(Vz € [a,0]) f(2) = f(a)
000000
(Vz € (a,b)) f'(x) =0

00000000000 z€(q,b)00000 ¢000000
[f(Mo) > f(a) = f(b)000] My € (a,b) 0000000002z=M, 00000000000
0500

f'(My) =0

0000M,00000 000000
[f(mo) < f(a)=f(b)000]mp € (a,b) 000000000z =M,00000000000
0500

f'(mo) =0
Od0o0OmoUOon CDDDDDD(DDDDD)

00 7(000000). 00 f:R—-RO000 (a,b)#0 0000000000 [¢,6]000
ooooooooo

f(b) = f(a)

—a

(3¢ € (a,0)) =f'(¢)

(00)000000000

ola) = @) - O TD )

p(a) = fla) = ¢(b) 0000000000000 ()0 Rolle 0000000000000
ce(a,b) 0000000000000
0000000000000000000000000000000000000000

00 8(00O0O0O0).
(Vz € (A,B)) f'(z) >0

0000 f(x) 000000000 0OOOO
(Vz € (A,B)) f'(z) <0

0000 f(x) 00000000000
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(00)A<a<b<BOOOOODODOOOOOODO
(3c € (a,0)) f(b) — f(a) = f'(c)(b—a)
(a,b) C (A,B)000ODO
f(b) = f(a) >0 <= f'(c) >0
(000Oo)
00 9(000OoOoOo).
(Vz € (A4,B)) f'(z) =0
0000 f(z)000 (4,B) 00000000
(00)0D000000

ub 13. 00 9000 s0O0ouonoOoooooboOoboOoo

0 3.00 (0,c0)DOOOODOOO
T >sinc

gogboobobooboobooo

Flz)=z—-sinz 00000000 [0,0)00000FO00O0O0O0OOOODO OKOOOO
z>00000 F'(z)=1-cosz>00000 (0,00)0000000000000O0O z€(0,7/2]
000000000000 ce(0,z) 00000

F(z) —F(0)=F'(c)(x —0) = F'(¢)z > 0

0000 F0)=000000 (0,7/2]0000 F(x)>0000000000 (r/2,00)0000
00000000 F(z) > F(r/2)>000000000000 (0,00)0000 F(z) >0000
000000000000000000000

ud 14. 000b00bO0o0obOo0obOo0oboboobooboobOon
1. sinm>m—% (x >0)
2. sinz +tanz > 2z (0 <z <m/2)
3. cosar:>1—w2—2 (z #0)

4. 1—””2—2+§>cosa: (x #0)

3.4 0O0OO0OOO

00000000000000000y=f(z)000000000eeROO0O0 f'(a) 00
00000 (a,f(e)000000000000000

000 f(z) 0000000000 z0000000000000000000000000
0 f(zx)0z000000000000000200000 f(z)00000000000000
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00000 (1665 0000000000 (1691) 000000000000000000000
ooo

0000 (6,b) 00000f"(z) >0000 f(x)00000000000000000a< a4y <
2, <b00000f(21) < fl(x,) 0000000000000000000000O000000
000000000000000000 f0000000000000000000000000
f(z)<000000000000

00 15. 0000 (1755) 00000000

T

I =1re

000000 f(z)0200000 f/(z) 00000000 f(x)00000000000000
ooooooooo

0000000000000000000000000000000000000000000
00000000000 0000000

0000000 f(zx)0000000 f(z)0000000000000200000 f7(z)0
0000000000200000000000000300000 fG(z)0400000 f9(2)
00000000000000000000000

00 f(z) 00000000 0000000000 0000 f®(z)00000000000C
n00000000000feCr0000000f0CrO000000000DOO0DOOO C°0O
ooooooooooo

g 1e6. DO000OO00OO0OO0DOO0ODOOODO

1. f(z) = e

2. f(z) = cosz
3. f(z) =a?

4- f(x) = ||

5. f(z) =z x |z|

3.5 OOO0OOon

O0y=f(x)00000000000O0O0O0O0OOOO0OOOO100 2000000000
gboooooobooboooboooobooboboooooooobobooooobobOooboon
gboooobooooobooobooooboboooobooobobooooooo

goboooobooooobboooobbooobbooobooooobooobooobooboboooo
gbooooboboooooboooobobooboobooooogn

0000000000000 0000o0000O00OD0OU00OO00DU0O0oUOOo0oUD (oo
0)00000000000000oo0o0ooooUoooo

0000000 n000000 (pOD200300000)—0000
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gbooogo
gogoobood —0O0O0004d

gbogoboboboobooobbobobobobobobobobooboooooooooboboon
0000000000000000000000020
gboobooooboboboboboboboobO0bOO0O0OO0OOO0OOOOOOOOO0OOOn
gogbooboboboobboobbobooboobooboobooboo
00 f(z) U0 2o 0D0O0O0OD0OOOODO

a(z) = ag + a1 (z — x0) + as(x — 20)? + az(x — x0)® + -+
0000 «(z) 00000000000 DOO0ODOOOOUOOOOUODODOOOO

O0000«(x)0 f(2) 0000000000002, 000000000000000000O0O
good

00 17. 00 (%10)000000 o, (i=0,1,2,3,---) 00000000000

00000000 f(z)0O00OOOO0OOO0OO0OO0OOODOOOUODOOOOODOOOOOOO
bobo00b0e=000000000000CO0DOO0DOOODOOOOOOODOOOOOODO
goobooogooboo

f@) = @)+ [ 1 e

00000 () =1,0v(t)=f()0000000000000000000u(t)=t-20000
ooooooooo

T

f@) = fla) [ -t OF + / (z — 1) " (t)dt

a
x

= f(a)+ (@ - a)f'(a) + / (& — )" (1)t

a

0000000000000 u(t) =—(z—t)?2/2v(t)=f'() 00000000000

1@ = 1@+ @-af@+ Lo+ [T o

0000000000000
k i z
f@:ZﬁQ@@—W+lji?@—mm (3.11)

7!
=0

gbbodoooooobooobooooobooooboooobo0ooobooobOOoooOoobOoOoooOoon
gooboboooboobboobboooboboooobobooboooboboooobboobobo
god

00000001800000000000000000000000000000D000000000000000
oob0o0o0ooOo0O0O0OO00ooOO0O00O0O0000O0O0O0000C0O000O0000O0O000C0O000C00000 1694
oo0o0ooooooobobo0o000oooo0o0ooooooobooob0ooooooOoOOobObOOoO0OooooooboDDoD

21



00 18. 00O (8.11)0 f(z) =e*,e=000000 k00000000000 0ODOOODOOOO
0000000000000 U00({@U0 k=20000000000000000)

00 10 (0000000). 00 f:R—-RO feCm"lacROODODODOD0OOO z#a000
O0e¢0 2000000000 (2,) 00000 (a,z) 000000 c0OO0DOOO
£ (e)

(r—a) + T(m —a)™

gboooobobobooobooooooobooboobooboooobon

00 11 (000000000000). 00 f:R->ROg:R—-RO f,geC'Da<bO000
O0ce(a,b)00000

f'(©)(g(b) — g(a)) = g'()(£(b) — f(a))

(0D0) h(z) = f(x)(g(b) —gla)) —g(x)(f(b) — f(e)) DODOODOD 6000000DODOO
gogood

(000D0000000)0000000000 a<2z000000000g(z)=(z—a)™00
goooo

i=1

() (g
g .!()(

x—ai
; )

) = gt)+ Y

1=

0000000000000000000000D0 11 0000000c¢ce(a<z)00000

¢'(c)(n(b) —n(a)) = n'(c)(6(b) — é(a))

O000000¢(z) = f(z),nz)=¢g(z) 00O

¢'(0)(g(x) — n(a)) = 1'(c) (f (x) — 6(a)) (3.12)
OO
molooplitD) . (i) ,

o) = ro+ X {E w0 - E -}

_ f(m) (t) m—1

= i@t (3.13)

[ERERERERE]
(m)

/0= 20 -0 (3.14)
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(3.12),(3.13),(3.14) O O

i £ @) = n(e) = S g™ 0 ) - o) (3.15)
googo

g(a) =0, (Vk€{1,2,---,m—1})g¥(a) =1

00 n(e)=00000000
(vt € R) g™ (t) = m!

0000oooooooo@1s)ooooon

F™(e)

m!

fz) = ¢(a) + (z —a)™
000000000000000000000000D0000000
00 19. 1 f(z)=cose00000ae=0,m=2000000 1000000000000
2. f()=logz00000a=1,m=2000000 1000000000000
3. f(z)=e* 00000e=0,m=5000000 /1000000000000
00D0000000000000000000

01.00f:R—>ROfeCm"lee ROODODDOOOOz#¢000000€(0,1)00000

— Cfom) _
f@) = @+ ¥ L@y L@ D) e
=1 : .
3.6 OO0OOOOOO
ooooo
f:R"—R
DOeceRT"O0O0O00O0O0O0beR"O0O0OO 2000000
- flath)—fl@)-b-h _
HIILH% [|h]| 0 (3.16)

0000.000000000000000000b-h=Y; ,b,000000 R"— RO
gboboobooobooobooboobboobobolooboobooooooboooboooboooboon
gboooooo

03.18) 0000000000000 0UD0O0OOfO0 «00D00O0DOODOOOOODOOO
0000000000000000eeR"0 (0)0000000O0O0O0OODO (0)0DO0OO0OOODO
000000000000 00000O0O00O fOO0OODODOOOOOOOODDODOCOCOO
0010000000000 fOCtO0000000
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gbobooobooooboooobooobooooobooOolgobooboobooboobooboon
0000000000 f(r,22)=2720000000000 (e,b) eR?00000000000
gboboooboobooooboooooooooboboooboooom

gooooooOoooooooOooo0oO0oo00 ROODOODIODOOOOODOODOOO
gbobooooobooobooliooooooboobobob e0OOO0DODOO0OO0ODOOODOOOOOO0
g0

gboooooboobooobooobooboooooboooboooboooo

3.7 000000040

00000 f(zy,22, - ,2,) 0000000a= (a1 a2 -+ a,) €ER"O0000:000000
ooooo

lim f((ll,(lQ,"‘ 7ai—17ai+h7ai+17"' 70’71-) _f(a’laa'Qa"' 7an)
h—0 h

(3.17)

goooooooooooOooooooOoooooOo0OofocOOO0O0O0OOOOOOODOO
gbooooobooooooad

of
a—ml(a)
0000d0oooOOooboOoOb0Do00d0 eeR"O00000O0O0OODOOO

of
8377;

0O 000000)00o0ooooooo
00000000:000000000000000000 fOC'00000O0O00OOO
goboooobood

:R"— R

00 12. 00000 f(z1,22, -+ ,2,)0 e e R"O0000 100000000000f0 a€R”
00000000 2;00000000000000 b0

_9f -
bZ - awl (a)7 (Z - 1727 7n)

gobgoobon

(00)000000000000 (3.18)000000 h=(0,---,0,h;,0,---,0)c R*O0000
0/000000000000000000004000000000000000000000
00000000000

o0 13. 00 i200000000bOO00bOO0obOO0OO0bObOOoobDboOoDOOoOoOooobooOn
gobooobooooooob r200D00b0ooo0obbo0obbobooooobooooooobooon
gboboooboooobooboooboooooboooooboooooobooooboooboboooooon
gboboooboboooooboooooboobobooobobooon

goooooooooo
of of of
(5@ 3@ - @)
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0000000 (gradient vector) OO0 OO

2 (@), Via)

gboooooo
gboboooboboooooobooooobooboooobobooooobooooon

00 13(000ooooog). o0 f:R"->ROeaceROODOg:R">ROaeROO0O
O00XeROOODO

1. h:xr— f(z)+g9(x) 00000 Vh(z) =Vf(x)+ Vg(x)

2. h:x— Af(x) 00000 Vh(x) = AV f(x)

IZIIZIIZIIZIIZIIZIIZIIZIIZIEIDDDDDDDDDDDDDD%D kODODOO0ODOODOOooOoooo
doododoobooooooooobobooooo 2000000000004
0 f
0000000000000 00000 ,000000 D?f(z)0000 V2f(x)0D00000
goooooood

(2)

00 14. ;240 ;24 0i#k0000000000000000000000000000
i k LTpOT;

gooboooo

0000024 0000000000 e00002000000000000000acR”
02000000000000C¢?0000000000

gboooobooooboooooooo

00 14. 00000 f(zy,29,---,2,) 0 20000000000000

o*f  _ 9*f
al‘zal‘k - 6l‘kal‘z’

@ ::1527"'7n)7(k ::1727"'7n)

000000C?00000000000000000000
o0 20. 00 2000000000000 02000000000D0OOOODO

1. cosxysinxs

2 zlz?
© xlia?

3. xi?
00000 f:R"->RO0000O0O0OO0OO0O0OOO0O0OOOOOO0O000mOO
(fi(@) fao(2) - fr(@))

0000000 mOUOOO0OO0OOOO fF:R"->R™"O00O0O0O0OO0OOOOOO@M)000OO
gbobooobooboooooogd

i If(@+h)— fa) - Bh|| _
1h]|—0 [[P]]

0 (3.18)
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0000mxnO0 BOODODOOOOOOOOO Bh=Y" b, 000000 R"+— R™O
gooooboooobooooooooboobooboooboooboobboooooobbooobooo
gooooooo

0000000000000000000000000C' 0000 e000O00O BO

U (q) -.- 2(q)

dxq Oy

Ofm Ofm
Fe@) o S2a)

00000000 BOOOUOOOOO Df(e)000dODOO

00 15. 0 10000000 f(x)=(f(¢)) 0000000000000000 f@)0000
Df(z)0 Vf(x)0DODOO00000OOO0O00OO

00 15 (000000000). 200 C'O0000 f:R">R™"0¢g:R™->RO00000
O00h(z)=g(f(x)) 0000000000 h:R*" > R0O0000aecR"000 b= f(a)
0oooooo

Dh(a) = Dg(b)Df(a)

0000000 exmOO0OO0O mxnOOOODODOO

3.8 UJUbUuobopogooooon

gobolioooooooboobooboooooboboooboooboobboboobooDbo
gbboooboooooooboooobOooboooboooobOoooooooboooobooooonooo
gbobooobobooooboobooobOobobooobOobooooooboooooon

00 16. 00000 f:R"» RO C'000000ecR"0000000000000 z#a
000O0#e(0,1)000000

f@) = fla)+Vf(a+0(x—a)-(z-a)
0000f0C’000000002#e00006€(0,1)000000

f@ﬁ=ﬂ®+VﬂM%w—M+%W$—MVVM+0@—GM$—®

(00) g(t)=fla+t(x—a) 0000000150000 ¢0 C'0000000D00000
g t)=Vfla+tlx—a)): (x-—a) (3.19)
00000000000 +=00000¢g00000O0O0OAE(0,1)ODOOOO

9(t) = 9(0) + 4'(61)t
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0oo

g(t) =g(0) +tVf(a+0t(x —a)) - (x—a)
t=100000¢00000000

f(x) = fla)+Vf(a+0(x —-a))-(z-a)

gbooooog
20000000000D0ODOODOOD

g"'(t) ="z —a)V*f(a+tx —a))(z —a) (3.20)
goboobobobgd¢t=00000000000O000

9(0) = 9(0) +9'O)t + 39" (60)7
oagd

g(t) :g(0)+tVf(a)-(a:—a)+%t(m—a)v2f(a+0t(m—a))(a:—a) t?
goboddt=10000 gO0oooooono

f@)Zf@)+VfW)%w—aV+%%$—aﬁﬂﬂa+9@—%ﬂﬂ$—a)

gbooooooobooon
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